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Which philosophy developed the multitutorial
systemin the classroom?

a) Vedic

b) Ishlam

c) Vedanta

d) Budhisem

The Root meaning of the Term “Budha” came
from?

a) Siddarthas pastlives

b) Having super human abilities

c) Overcomingtemptations

d) Walking up toreality

Principal of Independence is a fundamental
tenet of?

a) ldealism

b) Pragmatism

c) Realism

d) Existentialism

Realism views knowledge as generated by?
a) Themindalone

b) Matteralone

c) Theinteraction of mind and matter

d) Reality

Which theory focuses on the political
opportunities?

a) Political progress theory

b) Conflicttheory

c) Derivative theory

d) New socialmovementtheory

Which is not a form of culture?
a) Material culture

b) Non-material culture

c) Intellectual culture

d) Industrial culture
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National education commission is popularly
known as?

a) Kothari Commission

b) GanguliCommission

c) Verma Commission

d) Pathak Commission

National curriculum framework for teacher
education in India (2009) was developed
by ?

a) N.CEER.T.

b) N.U.E.PA.

c) N.C.T.E.

d) N.AA.C.

Cost effective approach is also known as?
a) Rate ofreturn approach

b) Social demand approach

c) Botha&b

d) Noneofthese

DNAtesthelp us to know ?

a) The genetictraits of a person

b) Nature of personality and its composition
c) Both(a)&(b)

d) Noneofthese

"Growth" and "mind" is a work of?
a) Maxwertheimer

b) KertKuffka

c) Welf Gang Kohler

d) Cartrogers

The formula for calculation of intelligence
quotient (1Q)is ?

a) (CA/MA)x100

b) (MA/CA)x100

c) (CA/100)x MA

d) 100/MaxCC
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Government Policy on education regard a
unique ?

a) Consumption

b) Investment

c) Source of Income

d) Expenditure

Which of the following approach becomes
impossible to forecast?

a) Man Power approach

b) Costbenefitapproach

c) Both(a)&(b)

d) Noneofabove

Which theory was given by "Throndike" ?
a) Operantconditioning theory

b) Connectionism theory

c) Re-inforcement Theory

d) Gastglt Theory

Which of the following types of counseling is
also known as "client" centered counseling?
a) Directive

b) Non-Directive

c) Eclectic

d) Group counseling

How many working days are there, per year
in B.Ed. programme?

a) 200

b) 250

c) 290

d) 270

Faculty improvement programme is ment
for?

a) Primary School Teachers

b) Pre-Primary School Teachers

c) Secondary School Teachers

d) College and University teachers

In Peer observation, the teaching gets
insight from ?

a) Student

b) Fellowteacher

c) Principal

d) One self
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Who guides and direct the seminar?
a) Chairperson

b) Teacher

c) Headmaster

d) Facilitator

Innovation word is derived from?
a) Innovative

b) Innovate

c) Innove

d) Innovare

Forusing ICT, the teachers needs to be:
a) Funny

b) Competent

c) Lively

d) Smart

Modern concept curriculum is helping in the
evolution of?

a) Average personality

b) balanced personality

c) Extrovert personality

d) reserved personality

Curriculum effectiveness is determined by
(a) Community cooperation

(b) Teacher competence

(c) Studentsinterest

(d) Quality of supervision

Articulation refer to

a) Repetition of skill

b) Interrelatedness of concept of curriculum
c) Types of education experiences

d) Helpsto gain knowledge
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In which year Activity model was emerged ?
a) 1933
b) 1920
c) 1944
d) 1955

Who propogated the CIPP model?
a) JohnDewey

b) RelphTyler

c) Deniel Stufflebeam

d) Harold Rugg

Who defined curriculum evaluation in 19797
a) JohnDuwey

b) Bruce Tuckman

c) Henery morrison

d) BoydBode

Which of this is not an approach of
curriculum change?

a) BottomupApproach

b) Systematicapproach

c) PanicApproach

d) Traditional Approach

Questionnaire researchis based on ?
a) Participatory Planning

b) Assumption

c) Scientific principles

d) Structured set of questions

Research Means?

a) Searching again and again

b) Solutionto any problem

c) Scientific approach to new truth
d) Conducting experiment
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The name of Stephen M Corey is associated
with:

a) Fundamental research

b) actionresearch

c) Appliedresearch

d) Socionetricresearch

Research Conducting to find out solution for
animmediate problem

a) Survey

b) Analytical research

c) Actionresearch

d) Longtermresearch

Which of the following is not an approach of
analysis and qualitative data?

a) Logical analysis

b) Criterionresearch

c) Contentanalysis

d) inductive analysis

Whatis the opposite of a variable?
a) A Constant

b) Anextraneous variable

c) Adependent variable

d) Adataset

Attributes of objects, events or things , which
can be measured are called

a) Data

b) Quantitative measures

c) Variables

d) Noneofthese

...................... has/have adirectimpacton
research tools and techniques?

a) Processes

b) Knowledge

c) Aspirations

d) Concepts
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Which of the following is not a type of
validity?

a) Contentvalidity

b) Criterion related validity

c) Construct validity

d) Cumulative validity

Which of the following is not a non-probability
sampling techniques?

a) Snow ball sampling

b) Stratified random sampling

¢) Incidental sampling

d) Purposive sampling

Graphically mode can be estimated from:
a) Ogive

b) bardiagram

c) Histogram

d) Historigram

Which average is affected most by extreme
observations ?

a) Median

b) Mode

c) Arithmeticmean

d) Geometricmean

Which of the following falls under inferential
statistics?

a) Arithmeticmean

b) standard deviation

€) harmonic mean

d) Analysis of variance

Triangulation help in enhancing
a) Reliability

b) Validity

c) Variability

d) Noneofthese
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In which of the research design, sampling is
least necessary ?

a) Compative Analysis

b) Experimental Study

c) Case Study

d) Correlational Study

Herbarts Models focuseson:

a) Training of Mental Aspects

b) Providing knowledge of Facts
¢) Retrainingthelearnt Facts

d) Allofabove

Adults have greatreservoir of ?
a) Experience

b) Laziness

c) Sadness

d) Noneofthese

Which is not a category of cognitive domain?
a) Remembering

b) Applying

c) Analyzing

d) Participating

BiPolarscaleis usedin?

a) Semantic differential scale
b) Rating Scale

¢) Thurstone Scale

d) Likertscale

Who described feedback as “Most Powerful
single moderatorthatenhances achievement?
a) Betty
b) Hattie
c) Hetty
d) Helly
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Flanders interaction analysis system was
developed by ?

a) Ned

b) Lewinand others

c) Parkins

d) Haggerty

Who gave the theory of meaningful learning ?
a) Augubel

b) Piaget

c) Vygotsy

d) Bruner

Which of the following is not a component of
ADDIE ?

a) Authoritative

b) Design

c) Developmental

d) Implementation

Why discussion forum needs to be
monitored ?

a) Foran Inappropriate content

b) To preventtechnical problem

c) To provide flexibility to students

d) Noneofabove

helps to assess students through
academic session?
a) MS World Software
b) E-portfolio
c) Excel Sheets
d) CCE

Father of Modern managementis ?
a) HenriFeyol

b) Koontzand O Donell

c) F.W.Taylor

d) Stainley Vense
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Which among the following is an effective
leadership ?

a) Family

b) Peer

c) Religion

d) Culture

Who wrote the book “ Managerial Break
Through?

a) JosephJuran

b) Joseph Green

c) Walter Shewart

d) Edwards Deming

Who developed the world “Poka Yoke™?
a) ShiChang

b) Shigeo Shingo

c) Shewart

d) Sharlin

One who is born with impaired hearing is?
a) Adventitiously deaf

b) Congenitally deaf

c) PostLingual deaf

d) PrelLingual deaf

Which is not a part of an inclusive classroom
practice?

a) Collaborative teaching

b) activity basedlearning

c) Peertutoring

d) differentiated instructions



